
O (opposite) = 1.5
A (adjacent) = 6
H (hypotenuse) or b = √ (62 + 1.52) = 6.19
Tan = 1.5/6 = 0.25
 = Tan-1(0.25) = 14.036
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Because the angle at the top is 14.036
 and
 
the next angle is 90
 (as it is part of a rectangle), the final angle side a makes with the wall has to be 180 – (14.036 + 90
), because there are 180
 in a straight line. The final angle is 75.96
. Now we know that two of the angles (8
 and 75.96
) we can work out the last: 80.036
. The sine formula says that a/SinA = b/SinB = c/SinC so if side a is a, A is 8
, b is 5.5 and B is 80.036 we can rearrange the equation so that a = Sin8
(5.5/Sin80.036) we get a as 0.78 m.
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